
Questão 1 

a)                                            b)                                     
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cos � = 0                                                                                

                                                                                                                                    F = 217 N 

                                                       c)          ������� = 0	 → 		�� − 		 sin � = 0 				→ 					 	�� = 188	N                                                     

                                                        �!����� = 0		 → "� + 	 cos � − � = 0  →	"� = 192	N 

                                                                    	�� = &' . "� →	&' = 0,979                       

 

          

 

 

P = 300 N 
AB = 9,00 m 
h = 2,70 m 
θ = 600 
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 0,5 ponto 

 1,0 ponto 

 1,0 ponto 














